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(1) (—3) — (—5) ;

fB: (1) (—3) — (—5) = (—3) +5=2.
(2) 72— (—4.8) ;

fB: (2) 72— (—4.8) =7.2+4.8=12.
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(2) —1.9— (—0.6)

=—1.9+0.6=—1.3.
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(1) 0—7;

fE: (1) 0—7

=0+ (—7) =—1.
(2) —3— (—8) ;
fR. (2) —3— (—8)
=—3+8=5.
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(1) 6—9;

f#: (1) 6—9

=6+ (—9) =—3.

(2) (—2.5) —5.9;
. (2) (—2.5) —5.9
= (—2.5) + (—5.9)
=—8.4.
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f#: (1) —10—5=—10+ (—5) =—15 (C) .
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(2) HEPHHB R F 2y AN —100 m, —238 m,  SRIX M K VEER
f#: (2) (—100) — (—238) =—100+238=138 (m) .
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(1) 2 CIK8 CHITREE; (2) EE—3CIR6 CHIIREE.
. (1) 2—8=—6 (C) . 2. (2) —3—6=—9 (C) .
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